| total events O=anylnput 8=anyAccept | Entries 2134

................................................................

................................................

e degegegeqediyyeyye

2 3 4 5 6 7 8 9

Input: 1=btow, 2=etaw  Accept: 4=onelet, 5=diJet, 6=rnd

L2 time used per input event Entries

0

rate of input events Entries 745

y: rate (Hz)

6

[EEY
]

.................................................................................

.................................................................................

o

500 1000 1500 2000 2500
X: time in this run (seconds)

Mean 4.342 " : ; ; : : . Mean 0
e A e P oot P e [
RMS 3200| & L . . . & & i |RMS
<) = . . . . . . .
> = : : : : : :
e B S R S S
0af
R Recoeuer IS SRS BUST IR SR SR
O_IIIilllilllillliIllilllilllilll
0 20 40 60 80 100 120 140 160
x: time (CPU kTics), range=100muSec
e+ccpetrate blue:monoJet, red:diJet, black:randon1 Entries 612
Mean 135.3 ~ T T T —Mean 135.8
I B L [ QTS F [
RMS  44.83 o J-L ; ; ; : |RMS  47.12
g | | s e
=

500 1000 1500 2000 2500

X: time in this run (seconds)




BTOW tower, Et>2.0 GeV (input)

soft=1+

soft=801+ .

05

O

o
x: BTOW softiD.

soft=1601+

05

Or60

soft=2401+,

05

I%IT:{{:

L2

x: BTOW softiD.

Xx: BTOW softiD.

soft=4001+

05

X: BTOW softiD.



05

crate=2"

05

,...‘...,.

han+128+c:

rate

crate=3"

05

: i=chan+128*c

rate

o
e
e

i=chan+128*c

rate

5

crate=5"

05

0

i=chan+128*c

rate

crate=6"

1

05

[ A

-r
H

o

| N,

TI0

i=chan+128*crate

=chan+128+crate



BTOW tower, Et>2.0 GeV (input) Entries

318

BTOW East

BTOW-Waest

N
o

R~sectop
o
T
L
"

. phi bi
g’

...........................................................

) R RS N

Oth||IIII|IIIAIIII

0

20 [T g T T

E
|'

IIII: H_:=||I|I

5

10

15

2

0

25 30 35 40
X: eta bin, [-1,+1]

x: 12 - Endcap etaBin ,[+1,+2]




Et Jet1-Jet2 (input) | Entries 745

|diJetl eta-phi (input)|BTOW_West Endcapanmes 725

BTOW-EZ
% 12_ 70 5
Q 5
o b
~ 10 60 T 10
(V] - =
i o
S SRR VOTROOON MO VOSSNSO NOSOE S 50 5w -
40
6 ..................................................
—30
4
20 10
ol 0
0 2 4 6 8 10 12 0 2 4 6 8 10 12 14
x: Jetl Et/GeV x: iEta [-1,+2]
diJet phil-phi2 (input Entries 745 diJet2 eta-phi (input Entries 745
(diJet phil-phi2 (input) | taphi (Inp U row-west Endcap
_ 8 . 30— 2
o S
o 3]
b 2
1 ]
~ =
= o
a .
.. >
>

x: iPhil ~sector

0 2 4 6 8 10 12 14
X: iEta[-1,+2]



Jet2 Et (input)

102

10

Jetl Et (input) Entries 745
Mean 5.615
RMS 2.289
102
10
1
0 10 20 30 -40- ;-éo -eo
x: Et (GeV)
# BTOW towers>ped+8 (input) | Entries 745
e Mean 30.64
- RM 14.32
25 [—enrenies
20:— -----
15:— ------
10:— -------------------------------------------------------------- P ST
NS ORISR U0 , TSSO SN OO TR SO
TN R B PP PR AU RS
% 20 40 60 80 100 120 140 160 180 200
x: # of towers/event
# ETOW towers>ped+8 (input) | Entries 745
Mean 16.37
Bl e | R | o RMS 9.27

30

25

20

15

10

10 20 30

N N | i
40 50 60 70 80 90 100

x: # of towers/event

102

Entries 745

T]Mean 2.23

______________________________________________________________________ : RMS 1.317
10 20 30 40 50 60
x: Et (GeV)

Entries 745

—|Mean 17.22

:IRMS 5.466




one-Jet Et (accepted) |

Entries

612

o

10 20 30 40 50 60
X: jet Et (GeV)

Entries 612

pted)

D TUYV

one-Jet eta-phi (acce

y: iPhi ~sector

....................................

0 2 4 6 8 10 12 14
x: iEta [-1,+2]

one-Jet phi (accepted) |

Entries

612

35k
30
25

20

15F

10

0 1 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1
0 5 10 15 20 25 30
x: iPhi ~sector

Entries 612

100 -

3 AN S N N »

R T e B -

) o e S So— e -

20—

O 1 1 1 i 1 1 1 i 1 1 1 i 1 1 1 i 1 1 1 i 1 1 1 i 1 1 1 i 1
0 2 4 6 8 10 12 14
x: iEta [-1,+2]




|Et of Jetl vs. Jet2 (accepted)]

Entries

>

Jet2/Ge

12

10

10 12
x: Jetl/GeV

155

|d|Jet1 eta-phi (accepted)|

DUV

Entries

est| Endcap

y: iPhi ~sector

y: iPhi2 ~sector

30

N
¢

20

|diJet phil-phi2 (accepted)] Entries
- e =
C = el =
S e s T
: E
HEE 2 S O N — e

15

10

0 5

20 25 30
x: iPhil ~sector

10

15

12 14
x: iEta [-1,+2]

diJet2 eta-phi (accepted Entries
| 30 Trﬁ’w |:;(-_,Q1- i U\|, West Endcap

% : :

(%]

L5

T

=

20

15

10

0 1 1 1 i 11 1 i 1

0 2 4 6

10

12 14
X: iEta [-1,+2]

155

4

3.5

155

3

25

15

0.5



|diJet Et

(accepted) |

10

Entries 155

e
...

1

1

...........................................................

6.397
2.026

Mean

:|RMS

—High Et jet

:]--- Low Et jet

12

50 60
x: Et (GeV)

|diJet eta (accepted) |

25

20

15

10

0 2 4 6

155
7.784
3.652

Entries
: Mean
- RMS
E —High Etjet | | A
R ---LowEtjet |1
1 1 1 i 1 1 1 i 1 1 1 i 1 1 1 i 1 1 1 i 1 1 1 i 1 1 1 Je.

Entries 155

|Mean 13.85

1+ i|RMS 9031
RTINS I

—— HRigh Et jet

...............

+|--- Low Et jet

0 10

15 20

25 30
x: iPhi ~sector

|di.]et delZeta (accepted)|

16

14

12

10

(@]

8

10

12 14

x: i Eta[-1,+2]

Entries

...............................

..................................

Mean
RMS

155
31.18
6.891

.......................................

I_IF—I...l.

30

40

60

X: delta zeta (rad*10)




155

ean x 7.784

: : : | Endcagiesn> 774
14p=e R S R [ R

o= .

Entries

|diJet delZeta vs. etal (accepted) | eniries 1% |diJet eta2 vs. etal (accepted)]

Meany 31.18

60

x: iEta2 [-1,+2]

40

y: delta zeta (rad*10)

50—

30

20

10

O T | | T | | T | | 111 | 11 | 11 | 111 | 1 O O
0 2 4 6 8 10 12 14 0 2 4 6 8 10 12 14
x: iEtal [-1,+2] x: iEtal [-1,+2]

|diJet delZeta vs. avrPhi (accepted) | Enties  185|  [total Et diJet (accepted)] Entries 155

H H H H H Meany 31.18 h ' h ' h Mean 21 72

60

—2.5
50

40

y: delta zeta (rad*10)

30 15

20

1O e e e 0.5

0 5 10 15 20 25 30 0 10 20 30 40 50 60
x: (iphil+iphi2)/2 (12 deg/bin) x: Et (GeV)

!
[
o




